Random Assesment Tool-I ( CEP)
Class- 6™ ( English Medium)
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6) Write the given numbers in ascending order.
787, 778, 877, 878, 890, 900, 798, 809
A. 900, 798, 809, 787, 778, 877, 878, 890
B. 900, 890, 878, 877, 809, 798, 787, 778
C. 798, 787, 778, 890, 878, 877, 809, 900
D. 778, 787, 798, 809, 877, 878, 890, 900

7) Whatis % of 367
A. 27 B. 48 C.9 D.12



8) Find the sum of place values of both 6 in the number 64576

A. 59994 B. 6006 C. 5994 D.60006

9) What will be the next number in the given pattern?
2, 6, 12, 20, 30, 42, 56, ........

A. 82 B. 72
10) Aman is standing facing towards the East direction. If he move 180° anti-clockwise

C. 70 D. 68

then find the direction he will be facing.

A. East B. West C. North D. South
11) When Jasvir was asked about his height, he replied ‘1.8 meter’. Find which of the following is equal to
his answer?
A. 18 cm B.54cm C.54 cm D. 180 cm —_—
E
12) Find the area of the given figure. = ‘5—?
@ =]
A. 132 sq. meters B. 148 sq. meters =~
H'E B'ﬁ'ﬁT[ﬁ m)
C. 180 sq. meters D. 228 sg. meters =
13) Which number will replace the ‘?’ in the given magic square, if the sum
10 Hi 10 m)

of number in every row and every column is same ?

A. 15 B. 8 102 |8
9|11 |13
C. 33 D. 18
147 |12
14) Find the value of ‘A’ in the given picture. 4A6
A 4 B. 5 C. 1 D. 0
X 5
2080

15) | am a closed figure with four sides. My all sides are equal. My all angles are

equal. Which of the following shape am 1?

A. Rectangle B. Square C. Triangle D. Circle

16) Seema has slight fever and cough. Her mother reminds her to cover her mouth while

coughing. Why is it important to do so?
B) To prevent spreading of germs to others

A) To avoid noise
C) To feel comfortable while coughing D) To keep her hands warm

17) What a pigment found in almost all plants that help in photosynthesis is called out of the

following?
A) Hemoglobin D) Starch
18) Mohit suffer from poor vision at night. His teacher suggests taking Vitamin A rich food.
What out of following should Mohit take to enhance his vision?
D) Soft drinks

A) Carrots and pumpkins B) Pulses C) Lemons

B) Chlorophyll C) lodine

19) Help Gagan to choose balanced diet for the good health from the following.




A) Rice, vegetables, dal, and a salad B) Only rice
C) Only a chocolate bar D) Fried snacks

20) While watching a nature documentary, you see a bird who lives in the cold snow area and
they wallung on ice instead of flying. Which bird could this be out of the following?
A) Sparrow B) Penguin C) Crow D) Parrot

21) In the food chain, which of these organisms is usually at the bottom of the trophics levels?
A) Carnivores B) Producers C) Ominvores D) Decomposers

22) What is the primary source of energy in a food chain?
A) Water B) Soil C) Sun D) Air

23) Students of class VI visited a place, where the temperature always lies between -10 degrees
Celsius and -25 degrees Celsius. Which of the following represents the state of water at this
place?

A) Solid B) Liquid C) Gas D) None of these

24) Gaseous exchange in plants takes place mainly through which of the following part?
A) Stomata B) Roots C) Flower D) None of the above

25) Plants living in the water are known as which of the following category?
A) Cactus B) Hydrophytes C) Xerophytes D) None of the above

26. Surjit's six-year-old younger brother Manjit keeps crying and tries to pursuade.
Surjit's parents are also very disturbed due to this. Can you tell how can they improve
Manjit?

1. By comprehending him with love. 2. By developing good habits in him.

3. By spending maximum time with him. L. All of the above.

27) Identify the shaded area shown in the map of India.
1. Rajasthan 2. Uttar Pradesh
3. Punjab L. Meghalaya

28. Look at the given picture carefully and say what

type of behaviour is depicted in the picture?
1. Bullying 2. Mutually helpful

3. Angry L. None of the above

29. Identify the shaded area shown in the map of India.

1. Rajasthan 2. Western Ghats
3. Punjab L. Meghalaya




30. Rahul's house is in the south direction. He leaves his house and takes books from

the library. Now he has to go to the bakery shop. rowey
In which direction does he have to go to reach the é k] é\l
bakery from the library? Explain with the help of

==y
diagram. 7
1. First South, then West |
2. First North, then West ~
3. First East, then North éﬁ\;

4. First South, then East

31) A shady tree has grown in the street outside Raman's house, which does not cause

any trouble to the passers-by to pass through the street. However, Raman's brother
wants to uproot that tree, but Raman, being an environmentalist, does not agree to
uprooting the tree. What should Raman do in such a situation?

1. Following his brother’s words, the tree should be uprooted.
2. He should explain to his brother that trees are valuable gifts of nature.
3. He should ignore his brother.

L. None of the above

32. Pankaj lives in the city and Rohit lives in the village. Rohit tells Pankaj that there

are three bodies of rural local government — Gram Panchayat, Panchayat Samiti and
Zila Parishad. Pankaj asks Rohit which is the lowest body of rural local government.
What will be Rohit's answer?

1. Panchayat Samiti 2. Gram Panchayat 3.ZilaParishad 4.Municipal Corporation

33. Which of the following statements is incorrect?

Statement A. Children should not be asked to do dangerous work.
Statements B. Children should not help their families in any household work.
1. Statements A and B are correct.

2. Statements A and B are incorrect.

3. Statement A is correct and B is incorrect.

4. Statement A is incorrect and B is correct.

3L. Look at this picture carefully. This picture is of India's national animal, the tiger. Its

number is decreasing day by day. Due to which the government has to take many
measures. Do you know why is this species becoming extinct?

1. Due to being over hunted
2. Due to continuous deforestation
3. Due to imbalance of environment

L. All of the above

35 .Identity the given place in the map of India?
1. Chennai 2. Delhi

3. Mumbai L. Cochin .




